N of simulated tracks vs hit

10*

10°

10°

10

0.95

T

———-———.... ..
= A B, e anan
o H N
o .

O

[N of associated tracks (simToReco) vs hit ]

0 40

1E: H:1: ,
1+ B
60 70 80 0995 10 15 20 25 30 35 40

[Nof

sim

3
—=— DQM_TT__mkFit-DQM_
—e— DQM_TT__mkFit-DQM_adjusted
—— DQM_TT__mkFit-DQM_adjustedi2

10*

103 -

10°

10

o
T

10°

10°F

10°

10?

10

N of associated tracks (simToReco) vs pixel layer

10?

10

-
T

PRy

0.

1 |

rHHHHH

5

v 2 4 6 8 10 12 14 16 18 20

"% 4 6 8 10 12 14 16 18 20



	Contents
	Page 1


